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TrigonometryExercise3 for No.9124

[ T 387 |
I=—  6=- _ ]
2 3 1=180° .6=2870°
Lo 2, 0n 2=(-315)°  .7=(-780)°
3 4 3=240°  .8=(-1035)
o 55n o
Nol=| 3=-— 8§=- , No2 = . 180
6 6 4=(210° 9=|—
T
=2 oo 0
7Ty T o (9%
5=2790° 10=|-
291 L T /)
S=-" 10=-55

1
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = [ Sin(0) = 5}, Quest = Cos( 9)}, , [

|
|

=

No4 = [ Conditionl = [ Cot(0) = 3], Condition2 = [Sec(0) < 0], Quest =Csc(0)], , [

No5 = {A =0,B zg, Condition = [Tan(e) :l} Quest =[Sec(0) + Sm(e)] , {

]
3

37 N f
N07:[A :7’ B =2 n, Condition ={Sln(9) =7}, Quest =[Cos(0) — Tan(e)]}, ,[—(}

o o [
No8 = A=n,B=T, Condition =[Sec(0) =-2], Quest =[Cot(0) —Sin(0)] |, ,| ——

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

< [= \ﬁ

No6:{A—E B =m, Condition =[Csc(0) =3], Quest = [ Cot(6)+Cos(9)] ,[
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TrigonometryExercise3 for No.9197

[ T 44 7 |
I=—  6=- i} ]
2 3 1=270° 6=570°
L 4 B¢ 2=225° . 7=2760°
3 4 3=(-60)°  .8=2205°
Tm 291 o
Nol=|3=—— 8= . No2 = ) 360
6 6 4=330 9=|—
In o
5=630° L I0=|-—
Omn L T ) |
S=—— 10=-25
i 2 ]

1
No3 = [ Conditionl =[Cos(0) < 0], Condition2 = [ Sin(0) = ;}, Quest = Cot( 6)}, ,

o<F

1

No4 = [ Conditionl = [Sec(0) < 0], Condition2 = [ Tan(0) =-2], Quest = Sin(0)],

2

.. 1
~ |

L~

N05:{A =0,B=§, Condition = [Sec(0) = 6], Quest =[Cot(0) — Sin(e)]}, ,[

T 9 «/7
Nob6 = [A :E’ B =n, Condition = [Csc(@) = 5}, Quest =[Cot(0) + Cos((?))]}, , {—(
3

No7 = {A =m,B =Tn, Condition = [ Sin(0) = f}, Quest =[Sec(0) + Cot(e)]}, }
3

4= 82 o= o) =3 | [
No8 =| A=—"—, B=2 n, Condition = Cos(9)=; , Quest =[Tan(0) —Csc(0)] |, ,
0002]
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1

b

1
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TrigonometryExercise3 for No.9252

[ T 8 |
I=—  6=— i} i
2 3 1=180° .6=12295°
Lo 2r 3l 2=30° .7=1950°
3 4 3=(-240)° .8=(-1380)°
5m 831 o
Nol=| 3=— 8= . No2 = . 270
6 6 4=135 9=|—
T
42T 9=7 0
T4 . B 0 (450
5=(-1800)° .10=
257 L T A
== 10=25

5
No3 = [ Conditionl = |:COS( 0)= g}, Condition2 = [ Sin(0) < 0], Quest = Cot( 6)}, ,

o<F

1

No4 = [ Conditionl = [0 < Sin(0) ], Condition2 = [ Cot(0) =-2], Quest = Cos(0)],

2

|
|

N05:{A =0,B=§, Condition = [Sec(0) =31, Quest =[Cot(0) + Sin(e)]}, ,[

<[5
IR

3n 3
Noéz{A :7’ B =2 n, Condition ={Cos(9) :Z}’ Quest =[Csc(0) + Tan(@)]}, ,[ .

(
No7 = A=2,B=TE, Condition =[Csc(0)=3], Quest =[Cot(0) + Cos(0)] |, ,

5

|

3x 8 | )
No8 = A=n,B=T, Condition = Sec(O)zg , Quest=[Tan(0)—-Sin(0)] |, .|~
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X

o
4=5 = Conion | sino) -3 | [
No8 = A=E,B=n, Condition = Sln(9)=§ , Quest =[Cos(0)+ Tan(0)] |, ,
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TrigonometryExercise3 for No.9312
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T 467 |
I=— 6= ] ]
2 3 1=180°  .6=(-1830)°
Lo 3, 8 2=(-315)° .7=(-2580)°
4 6 3=300° .8=(-2295)°
Sw 53xw o
Nol=| 3=—"— .§=- , No2 = . 180
6 4 4=330 9=|—
T
PERRELIP 0
A== 9= o (450
5=2250° 10=|-——
11 m L T J |
S=-— - 10=-25

1
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = |:COS( 0)= —}, Quest = Sin( 9)}, ,

No4 = [ Conditionl = [ Cot(0) = -6 ], Condition2 =[Csc(0) < 0], Quest = Sin(0)],

o 1
Nob = {A =0,B= E, Condition = [COS(@) =

2}, Quest =[Cot(0) + Sin(e)]}, ,{—)

No6 = [A —n B= 7“ Condition = {Tan(e) :ﬂ Ouest = [ Sec(0) + CSC(@)]i|, , {

N07:[A =_n,B=2 n, Condition = [Csc(0) = -3 ], Quest =[Cos(8) + Tan(e)]}, ’{_)}

\"\'
|
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TrigonometryExercise3 for No.9397
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i T 347 |
d=—"  6=- ) _
2 3 1=270° .6=(-2580)°
L,z DB 2=135°  .7=(-2835)°
4 6 3=(-210)° .8=(-510)
S5n 45 1t o
Nol=| 3=—> 8=- ,No2 = o 360
6 4 4=300 9=|—
T
PRELIPI. o
T3 oo - 0 _[ 720
5=(-1080)° .10=
25 ¢ L b
=== 10=65

4
No3 [ Conditionl = {Cos( 0)= —} Condition2 = [ Tan(0) < 0], Quest = Csc( 9)

No4 = [ Conditionl = [Tan(0) = 5], Condition2 = [Cos(0) < 0], Quest = Csc(0)], [

FE

No5 {A 0, B=—, Condition=[Cot(0) =2], Quest:[Sec(9)+Csc(6)]} ,[
[ 3n
Nob6 =

A=7 B =2 n, Condition =
1
N07={ =— Condztlon—[Sm(e)——} Questz[Sec(G)—Cot(e)]} ,[

No& [A =—, B=m, Condition = [COS(G) = ?}, Quest =[Sin(0) + Tan(e)]} ’ {ﬂ}

b
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ﬁ

[Csc(@)— 5} Quest:[Cot(G)—Cos(G)]} ,{

|
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TrigonometryExercise3 for No.9449

37 46
I=—— 6= _ )
2 3 1=180° .6=12580°
47[ 497[ 2_ (o) _ (0]
Lo 2T, 2=(-210)° .7=(-2370)
3 6 3=205° 8=12655°
11 451 0
Nol=|.3=— 8= . No2 = . 270
4 4=120 9=|—
3 T
.4==_:;_ 9=4 . 630 ©
5=1170° . 10=|-—
11 L T A
5= 10=-15
L 2 i

4
No3 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Sin(0) = —} Quest = Tan( 6)

No4 =

No5 =[A =0,B =§, Condition :{Cot(e) zg}, Quest =[Csc(0) — Sec(e)]} ,[
Noéz{A :g, B =, Condition {Tan(e) :ﬂ Ouest = [ Sec(0) + Sin(@)]}, [
N07=[A :%,B:2 n, Condition =[Sin(9) zi}, Quest =[Tan(0) + Sec(e)]}, ,[

N08=|:A=TE,B=3TTE, Condition=[C0t(9)=g}, Quest=[Cos(9)+Sin(9)]}, ,[ v
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0006]

[ Conditionl =[Cos(0) < 0], Condition2 = [Cot(0) = 1], Quest = Sin(0) ],

L
e

|

5



TrigonometryExercise3 for No.9562
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T 41 |
I=— 6= _ _
2 3 1=270° .6=1860°
Lo 2, Trn 2=(-30)°  .7=2310°
6 6 3=(-225°  .8=1035°
T 17w o
Nol=| 3=— .8§=- , No2 = ) 180
4 4 4=120 9=|—
5w T o
5=(-1170)° .10=|-—
1= L T /)
5= 10=6.5
i 2 ]

5
No3 = [ Conditionl] = |:COS( 0)= H}’ Condition2 = [ Tan(0) < 0], Quest = Csc( 6)}, , [

L 1

No4 = [ Conditionl =[0 < Sin(0) ], Condition2 =[Cot(0) =-1], Quest = Sec(9)],

- 5
N05=[A ZO’B:E’ Condition =[COS(9) =

2

=[5
| I

6}’ Quest = [ Sin(0) +Tan(6)]}, ,[
No6:[A :7“, B =2, Condition =[C0t(9) :ﬂ, Ouest = [Sin(0) — Sec(@)]}, {

No7:[A =§,B= . Condition =[Csc(9) =ﬂ Ouest = [Cos(6) + Tan(e)]}, [ }

== Cotin= 5013 | [
No8 = A=n,B=T, Condition = Sln(e)zg , Quest =[Sec(0)+ Cot(0)] |, .| ——
0007]
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TrigonometryExercise3 for No.9721

RE 49 1t
d=—— 6= _ .
2 6 1=180° 6=1920°
Lo Ir 27 2=(-330)° .7=(-1755)°
6 4 3=60° 8=(-570)°
27[ 11ﬂ o
Nol=|3=—" 8= ,No2 = o 180
3 3 4=(-135)° 9=|—
T
o2 gy 0
T g o o oeno [ %00
5=2880° .10=|-
17 = L T )
5= 10=-25

1

aEHE

1
No3 = [ Conditionl = [Cos( 0)= 5}, Condition2 = [Cot(0) < 0], Quest = Csc( 6)}, ,

No4 = [ Conditionl = [Sec(0) < 0], Condition2 = [Tan(0) =-3], Quest =Csc(0)], ,

No5 = {A =0,B zg, Condition =[Sin(9) :%}, Quest =[Tan(0) — Sec(e)]}, , [

1
=

~ | |
|

3n
No6:[A =m,B :7, Condition = [Sec(0) =-2], Quest =[Csc(0) — Cot(e)]}, ,

No7:[A =§,B= ., Condition {cm(e) =7}, Ouest = [Csc(0) + COS(@)]:|, [

=[5
| I

-

(

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKKXXXXKKKKKKKK XXX KKK KKK KKK XK KKK KKK KKK KKK KK KKKK

3 2
No8 =[A =7n, B =2 x, Condition {Tan(e) =ﬂ, OQuest = [Cos(6) — Sin(e)]}, [
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TrigonometryExercise3 for No.9789

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK L KKK KKK KKK KKK KKK KKK KKKKKKKMS/1-6400303-00009XX

[ T 511
I=—  6=- i i
2 4 1=270° 6=2870°
Lo 3, l4rm 2=(-120)° .7=(-1740)°
4 3 3=1205° 8=1125°
77 1371 o
Nol=| 3=— 8=-— . No2 = ) 270
6 6 4=(-30)° 9=|—
5 "
.4:— 3 9:2 o 450
5=1350° 10=|-—
21 & L T A
S=-T 10=-55

2
No3 [Condition] = [Cos( 0)= } Condition2 = [Csc(0) < 0], Quest = Cot( 9)

b:\g

1

No4 = [ Conditionl = [0 < Sec(0)], Condition2 =[Cot(0) =-1], Quest = Csc(0)], [

No5 [A 0,B =;, Condition = {Cot(e) = g}, Quest =[Sec(0) — Sin(e)]} ,{ y
No6 = {A _3771, B =2 n, Condition = {Tan(@) :?}, Quest =[Cos(0) Sin(@)]} , [
T

NS
L____J‘\

NS
L 1

No7 [A——B nCondztlonz[Cot(e):-l],Questz[Csc(6)+Cos(6)]} ,[

X [Page

0009]

I

No8 {A n, B = Condltlon—[Sec(9)=-8],Quest=[Sin(9)+Tan(9)]} ,[ﬁ}

M
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TrigonometryExercise3 for No.9795
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3n 231t |
I=—  6=-— i} )
2 3 1=90° 6=945°
L,z 8 2=(-30)°  .7=840°
4 4 3=120° .8 = 2490°
4-n 91 T o
Nol=| 3=— 8= ,No2 = o 180
3 6 4=225 9=|—
11n T )
.4: 6 9:3 o 450
5=(-1800)° .10=|—
21 m L T
S5=-= 10=-55

1
No3 [Condztion] = |:COS(9) = g}, Condition2 = [Cot(0) < 0], Quest = Sin(e)} , {
No4 = [ Conditionl =[Csc(0) < 0], Condition2 = [ Tan(0) =41], Quest = Csc(0)] [

2

B

No5 = [A =0,B =§, Condition :{Sec(e) :%}, Quest =[Csc(0) + Cot(e)]}, , [

No6 {A:R,B:TTE,Condition:[Csc(B):-lsl}Quest—[Tan(O) COS(@)]} [

N07—[A:E,B=n, Conditionz[Sin(e)—l} Quest =[Tan(0) — Sec(e)] ,{

No8 = [A—T B=2m, Condztzon—[Cos(G)— 3} Quest—[Sln(9)+Tan(6)]} ,[—(}

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

=[5
| |

\\ﬁ
1
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TrigonometryExercise3 for No.9839

[ 231w
A=z 6= _ _
4 1=270° .6=(-945)°
L,_or ,_20m 2=(-240)°  .7=(-2550)°
4 3 3=(-150)° .8=(-1860)°
27E 71ﬂ o
Nol=| 3="—— 8= , No2 = . 90
3 6 4=315 9=|—
TT
2 o
4= 6 .9=4 . 630
5=(-810)° .10=|-—
27 L T ) |
S=" 10=-55

5
No3 = [ Conditionl = [ Sin(0) = ;}, Condition2 = [ Tan(0) < 0], Quest = Cos( 9)}, ,

EHE

No4 = [ Conditionl =[0 < Cos(9)], Condition2 =[Tan(0) =-7], Quest =Sin(0)], , [

| IS

No5 = {A =0,B =§, Condition =[Sin(9) =g}, Quest =[Cos(0) + Tan(e)]}, ’ [

|

3n -1
No6:{A =T,B =2 n, Condition :[Tan((?)) :;}, Quest =[Cos(0) — Csc(e)]}, ,[

NO7=[A=TE,B=3TR, Conditionz[Cos(G)z%}, Quest = [Tan(e)—Sin(G)]}, ,[ }
No8 =| A=—",B=m, Condition =[Csc(0) =3], Quest =[Cos(8) —Cot(0)] |, , (
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TrigonometryExercise3 for No.9843

3 l4m |
I=—— 6= ] _
2 3 1=180°  .6=(-1410)°
L,o2r , Un 2=(-30°  .7=660°
3 6 3=225° 8=2475°
T 43 1t o
Nol=| 3=—7"7" 8=- ,No2 = o 90
4 4 4=(-120° 9=|—
T
p I1n 95 .
6 o _ o _ :E%l
5=(-1440)° .10=
25 ¢ L T J |
S=-T 10=-45

2
No3 [Condm'on] =[Cos(0) < 0], Condition2 = [ Sin(0) = —} Quest = Tan( 9) [

|
|

iif]’\ \,

No4 = [ Conditionl = [ Cot(0) =4], Condition2 =[Sin(0) < 0], Quest = Sec(0) ] [

= ‘

NoS5 {A 0,B= E’ Condition = [Tan(e) = %}, Quest =[Cos(0) — Sin(e)]} , [—()}
No6 [A =7, B= 7’ Condition = {Cot(e) = 6} Quest =[Csc(0) — Sec(O)] {
No7 {A =§, B =, Condition =[Sec(6) =£} Ouest = [Csc(0) + Tan(e)] [ }

No8 {A—T,B=2n,Conditionz{C05(9)=1} Quest =[Csc(0) — Tan(@)]} ,[f
0012]
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&«\é\
L 1
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TrigonometryExercise3 for No.9854

38m
A= 6=— _ _
3 1=90° 6=2760°
Lo 2, 2r 2=(-240)° .7=(-495)°
3 4 3=315° .8=(-690)°
S5n 41 &t o
Nol=| 3=— 8=- ,No2 = o 90
4 6 4=(-210° 9=|—
4=——  9-5 e
T 6 o o opno (340
5=1800° .10=
on L T )
S=—— 10=-35
L 2 i

5
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = [ Sin(0) = g}, Quest = Cos( 9)}, ,

1

No4 = [ Conditionl = [ Cot(0) =-2], Condition2 =[0 < Sec(0)], Quest = Sin(0)], ,{

11
No5 :{A =0,B =§, Condition :{Sec(e) :I}’ Quest =[Csc(0) + Tan(e)]}, ,[

EhiD

|
|

o

o
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Nob6 = [A %B 27, Condztzon—[Sm(G)— 3} Quest:[Tan(B)—Sec(e)]}, ,{

No7 = { :— Condztlon—[Csc(e)—ﬁ} Quest=[Sec(9)+C0t(9)]}a ’[

No§ = [A =§, B =, Condition = {c%(e) _ ﬂ OQuest = [ Csc(0) + Tan(@)]}, , {
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TrigonometryExercise3 for No.9862

i T 791 |
== 6= ) .
2 6 1=180° 6=1410°
P 2=(-150)° .7=(-1305)°
4 3 3=(-225°  .8=1200°
Tm 41 &t o
Nol=| 3=—> 8=- ,No2 = o 360
6 4 4=300 9=|—
4n S
5=(-1080)° .10=|-—
11n L T
S=- 10=-05
i 2 ]

[ ) y [ 1} {ﬂ}
No3 =| Conditionl =[Cot(0) < 0], Condition2 =| Cos(0) = Quest = Sln(e)

;

No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Cot(0) =-4], Quest = Csc(0)], {

(s

No5 = {A =0,B= g, Condition = [COS(@) = %}, Quest =[Cot(0) + Sin(e)]}, , [
No6 {A :7’ B =2 mn, Condition =[Csc(0)=-5], Quest =[Tan(0) + Sec(@)]} ,{
No7 = [A = g, B =m, Condition = {Cot(e) = ?}, Quest =[Sec(0) + Csc(e)]}, , [

[ 3w } {ﬁ}
No8 = A=n,B=T, Condition =[Tan(0) =1], Quest =[Csc(0) —Cos(0)] |, ,| ———
0014]
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TrigonometryExercise3 for No.10278

i 37 9 |
J=— 6= i} _
2 4 1=90° .6 =12655°
Lo 4r Ol 2=(-45)° .7=(-1050)°
3 6 3=210° 8=420°
37 34 it o
Nol=| 3=— 8= ,No2 = o 180
4 3 4=(-300° .9=|—
i=—Z  9-¢ i
6 o oo (7120
5=720°  10=
291 L b
S="_ 10=35

1
No3 = [ Condition] =[Tan(0) < 0], Condition2 = {Cos( 0)= Z}’ Quest = Csc(0) }, , [

I

No4 = [ Conditionl = [ Tan(0) = 4], Condition2 = [ Sec(0) < 0], Quest = Sin(0) ],

2

1

L 1

No5 = {A =0,B zg, Condition = [Cos(e) 23}, Quest =[Tan(0) — Csc(e)]}, , {

Noéz[A =§, B =, Condition :[cm(e) :ﬂ Ouest = [Sec(0) — c5c(e)]}, [
N07={A =3TR,B=2 n, Condition ={Cos(9) =%}, Quest =[Csc(0) — Tan(@)]}, ,[

== condion=| 0= | [
No8 = A=n,B=T, Condition = Csc(9)=z , Quest =[Sec(0)—Cot(0)] |, .| ——
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TrigonometryExercise3 for No.10361
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i 3n 16 &
= 6= ) )
2 3 1=180° 6=510°
L., 2=120°  .7=1665°
3 6 3=210° .8=480°
37 397 o
Nol=| 3=—" 8= , No2 = o 180
4 4 4=225°  9=|—
57 T o
4=- 6 9=3 o 630
5=2790° .10=|—
29 1t L T
S5=-= 10=45

1
No3 = [ Conditionl = { Sin(0) = } Condition2 = [Cos(0) < 0], Quest = Cot( 9) {

«jb

No4 = [ Conditionl = [ Cot(0) =-5], Condition2 =[Csc(0) < 0], Quest = Sec(9)], [

No5 =[A =0,B =§, Condition :{Sin(e) =§} Quest =[Sec(0) + Cot(e)] ,{

1
| I

Nob6 = [A nB—% Condition = [Csc(0) =-5], Quest =[Sec(0) — Cot(e)]} ,

L1

3 2
No7:{A =7n,3 — 2 . Condition {Sin(e) =3}, Ouest = [Tan(0) Cos(e)]}, [

e

No§ = [A — = B=n, Condition |:C0t(9) =ﬂ, Ouest = [ Sec() + Sin(e)]}, , [ y
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TrigonometryExercise3 for No.10532
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i 77 7|
A=z 6=— _ _
6 1=270° .6=(-1575)°
S,o2m o, 46 2=(-210)° .7=(-660)°
3 3 3=(-240)°  .8=2130°
T On o
Nol = 3= 8§=—" |, No2= o 270
6 4 A=(-45)0  9=|—
i "
.4=— 4 9:2 o 540
5=(-2790)° .10=|"——
25 ¢ L b
S=-T 10=15

3
No3 [ Conditionl = [ Sin(0) = g}, Condition2 = [ Cot(0) < 0], Quest = Sec( 9)} ,

No4 = [ Conditionl =[Sec(0) < 0], Condition2

|
|

—

DA

Cot(0) = 571, Quest = Sin(0)], .
| | D
No5 {A 0,B= BY Condition = {Tan(e) = Z}, Quest =[Cos(0) + Sm(G)]} ; [_

No6 = {A :5 B =, Condition —{Csc(e) = 130} Quest =[Tan(0) — Sec(e)] [ }

No7 = [A I, B—T Condztzon—{Tan(e)—z} Quest =[Csc(0) — Sec(e)] { }
3n

4= =2 Comtion = 07| | [
No8=| A= 5 B =2 n, Condition = Sln(9)=6 , Quest =[Cot(0) + Cos(0)] ,

b
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TrigonometryExercise3 for No.10688

T 17 n
I=— 6=- _ _
2 6 1=270° .6=(-1575)°
Lo lr o, B 2=(-330)° .7=(-1050)°
4 3 3=45° .8 =840°
K RN o
Nol=|3=—" 8=-— ,No2 = o 90
6 4 4=(-240)° 9=|—
4=— 9=5 e
T3 - o [ 240
5=630°  .10=|-
S5n L T J |
S=—— 10=-45
i 2 ]

I—I
I—I

1
No3 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Sin(0) = —} Quest = Tan( 6)

No4 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Cot(0) = 3], Quest =Sin(0)],

No5 =[A =0,B =§, Condition = [Sec(0) =31, Quest =[Csc(0) — Tan(e)]}, ,[

3n
Noéz{A :7’ B =2, Condition = [Csc(0)=-3], Quest =[Cos(0) — Cot(@)]}, ,

N07:{A=§,B:n,Condition:{Cos(G)zi} Quest =[Sin(0) — Cot(e)]} ,[

l_—_|
L 1

o

):0:0:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.¢

3 .
No8 =[A _n, B =7n, Condition =[Sin(e) _ } Quest = [ Tan(0) + Sec(e)]
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TrigonometryExercise3 for No.10868

3 551
I=—  6=-— i} )
2 6 1=180° .6 =12550°
Lo Am 327 2=(210°  .7=780°
6 3 3=60° 8 =1585°
T 331 o
Nol=| 3=—7"7" 8=- ,No2 = o 90
4 4 4=225 9=|—
T
4——2—7c 9=35 0
A== . ) ) (540
5=(-1440)° .10=|-—
23 1 L T |
5= 10=0.5

I—I

E\ﬁ

1
No3 = [ Conditionl = |:COS( 0)= —} Condition2 = [ Sin(0) < 0], Quest = Cot( 6)
No4 = [ Conditionl =[Csc(0) < 0], Condition2 =[Cot(0) =-7], Quest = Sin(0) ],

No5 = {A OB_E Condition =[Cot(0) = 1], Quest =[Sin(0) — Sec(e)] ,[

ﬁ@

No6={A =§, B =, Condition =|:COS(9) _ '3} Ouest = [ Cse(0) + Cot(e)]} [

<[5

'

g

o

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKKXXXKKKKKKKKK XXX KKK KKK KKK XKL KKK KKK KKK KKK KKK KKKK

3 -5
N07=[A =7, B =Tn, Condition =[Sin(9) :E}’ Quest =[Sec(0) — Cot(e)]}, ,[

3 5
No§ = {A =7n, B =2, Condition {cm(e) =ﬂ, Quest = [ Sec() + CSC(@)]}, {



):9:9:9:9:9:9:9.9:9.9.9.9:9.9:9.9:9.9:9.:9:9.9:9.0.:9.9:9:0:9:0:9:0:9:0:0:0:9:0:9:0.:9:0.9:0.9.9.9.0.9.0.9:0.9.0.9:0.9:9.9:9.0:9.9:9.9:9:9:9:9:9:0:0:0:0:0.:9:9.9:0.9.0.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0.0:0.0:0.0:0.9:0:9:0:9:0:9:0.0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXKXXKXXKX XX XKXKXKXKXXKKX KX KKXKX KX XXKXKX KX XXKKX KX KKXKXKXKKXME /1-6400303-00020XX
TrigonometryExercise3 for No.10900

T 85m
I=— 6= ] _
2 6 1=180° 6=2730°
PO 2=225° . 7=1125°
4 4 3=(-120°  .8=1020°
T 44 1t 0
Nol = 3= 8= ,No2 = o 270
6 3 4=210 9=
T
=2E 9oy o
T3 ' B 0 _ (720
5=(-1440)° .10=
27 ¢ L T /)
S=-T d0=-15

1
=[5
| |

5
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = [Cos( 0)= B}, Quest = Cot( 9)}, ,

No4 = [ Conditionl =[0 < Cos(0)], Condition2 =[Tan(0) =-1], Quest =Sin(0)], ,

1

| IS

1

| IS

7
No5 = {A =0,B= %’ Condition = [Csc(@) = Z}, Quest=[Tan(0) — Cos(e)]},

1

| S

3n 5
No6:[A :7’ B =2 n, Condition ={Sec(9) =5}, Quest =[Sin(0) — Cot(e)]}, ,

=[5
| I

No7:[A =§, B =, Condition =[Tan(6) =ﬂ Ouest = [ Sec(0) + Csc(e)]}, [
3n -1 | )
No8 = [A =mn,B =7, Condition = [c%(e) =Z}’ Quest =[Tan(0) — Sm(e)]}, ,[—(}
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TrigonometryExercise3 for No.11693

25 1t
d=x 6=— _ _
3 1=90° 6=1680°
Lo 2k, On 2=(-300)° .7=(-2370)°
4 4 3=45° 8=2835°
T 531 o
Nol=| 3=—  8=- . No2 = . 90
3 6 A4=(-150)° .9=|—
L3 o
.4:—6 9:6 o 450
5=2070° .10=|—
251 L T A
S=-"0 0=-15

| I |

3
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = g}, Quest = Sec( 9)}, ,

No4 = [ Conditionl = [Tan(0) = 1], Condition2 = [Sin(0) < 0], Quest =Cos(0)], ,

EE

No5 = {A =0,B zg, Condition = [Csc(@) =£}, Quest =[Cos(0) + Tan(e)]}, , {

x‘é\“‘é\
| I

Nob6 = [A =m,B= 3771’ Condition = {Cot(@) = %}, Quest =[Cos(0) — Csc(@)]}, , {

<[5
| |

3 4
No7:{A =7n,3 — 2 . Condition =[Tan(6) =7}, Ouest = [Cos(0) + sm(e)]}, [

No§ = {A =§, B =, Condition = |:COS(9) =ﬂ OQuest = [ Cot(8) Sin(e)]}, , [
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TrigonometryExercise3 for No.12097
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i 3n 327 |
1= 6= .
2 3 1=90° .6 =495°
Lo Ir L BT 2=(-120°  .7=690°
4 6 3=(-330)° .8=1140°
41 RIK o
Nol=|3=—" 8=-— ,No2 = o 360
3 4 4=(-225)° 9=|—
T T o
A4 = ;; .9==1 . 900
5=2520° .10=|—
ST L T |
S=—"— 10=-35
. 2 ]

4
No3 = [ Conditionl = [ Sin(0) = ;}, Condition2 =[Sec(0) < 0], Quest = Cot( 9)} , l:

E

No4 = [ Conditionl = [ Tan(0) = -2 ], Condition2 = [ Csc(0) < 0], Quest = Cos(0)],

l—|
«\ﬁ
1

No$5 = [A =0,B =§, Condition :{Sin(e) =§} Quest =[Cot(0) — Sec(e)] , {

Nob6 = [A nB—T Condztzon—[Sm(O)— 5}Quest—[Sec((?)) Tan(@)]} ,{
N07—[A=E,B=n,Conditionz[Tan(e):g},Quest:[Csc(O)—Cos(O)]}, ,{

No8 [A —T,B= 2 n, Condition = [ Csc(0) =-4], Quest =[Cot(0) — Sec(e)]} ,[

\\ﬁ__J
| E— |

L1
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TrigonometryExercise3 for No.12172

i 3n 40w |
= 6= i} )
2 3 1=180° 6=1200°
L, 3= 2=60° 7=1230°
4 6 3=150° 8 =12835°
2’E 13 T o
Nol=| 3=—" 8= ,No2 = o 270
3 4 4=225 9=|—
gom o,y T
6 T _ o _ E%El
5=(-2520)° .10=|-
31 m L T |
5== 10=25

N—

1
No3 = [ Conditionl = [ Sin(0) = 5}, Condition2 =[Sec(0) < 0], Quest = Cot( 9)}, ,

1

o

N05:{A =0,B =§, Condition z[Cos(O) =§}, Quest =[Tan(0) — Sin(e)]}, ,[ .

yis -2 :
No6 = {A :E’ B =m, Condition = {c%(e) :g Quest=[Cot(0) + Sin(@)]}, , [—

|
3n 8
No7=|A=mn,B T Condition =| Cot(0) “3)
8

\./‘\

No4 = [ Conditionl = [Tan(0) = -6], Condition2 = [ Sec(0) < 0], Quest = Csc(0)],

2

\,’\‘é\
(IR BN

1

o

{)
14

Quest =[Cos(0) — Csc(e)]},

1
I

[Page = 0023]

[ 3n .. { - } . } {1/7}
No8 = A=7,B=27‘E, Condition = Tan(9)=7 , Quest =[Cos(0)—-Sin(0)] |, ,|——
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TrigonometryExercise3 for No.12173

[ T 377 |
I=— 6= _ _
2 6 1=270° .6=(-2280)°
Lo Mmoo 3 2=(-300)° .7=(-1770)°
6 3 3=30° .8=1935°
4n On o
Nol=| .3=——— 8=-—| No2= . 90
3 4 4=315 9=|—
T
4= 9=7 o
T 4 T B o B 450
5=(-1080)° .10=
191 L T /)
S=- 10=45

1
No3 = [ Conditionl = {Cos( 0)= g}, Condition2 =[Sin(0) < 0], Quest = Tan( 9)}, ,

1
| IS

No4 = [ Conditionl =[Sin(0) < 0], Condition2 =[Cot(0) = 6], Quest = Sec(0)],

2

| I |

No5 =[A = O,Bzg, Condition = [Csc(0) = 2], Quest =[Cos(0) + Tan(e)]}, ,{

I

No6 = [A :g, B = . Condition = [Tan(@) :ﬂ, Ouest = [Cos(0) + sm(e)]}, , {

| I |

3 7
No7 = {A =m,B :Tn’ Condition = [Cot(e) :E}’ Quest =[Cos(0) + Sin(e)]}, , [

| I

N08={A =TTE, B =2 n, Condition =[Csc(0) =-5], Quest =[Tan(0) + Sec(@)]}, , }

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

1
=[5

X [Page = 0024]
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TrigonometryExercise3 for No.12180

] .
d=m O="" - -
3 1=270° 6=2670°
Lo &, B 2=240°  .7=2820°
4 6 3=(-315°  .8=1395°
11 27 o
Nol=|.3= 8= ,No2 = . 360
6 4 4=30 9=|—
T
n 0
4:=—-3 9=7 . 99()
5=2520° 10=|-—
27m L T /)
5= 10=65

1
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = —} Quest = Sec( 9) l:
No4 = [ Conditionl = [0 < Cos(0)], Condition2 = [Cot(0) =-1], Quest =Sin(0)], [

ﬁh

N05=[A :0,B:§, Condition =[C0t(9) =§}, Quest=[Cos(0) — Sin(e)]} ,[

i‘

3n -5
Nob6 = [A =m,B= 7’ Condition = [Csc(@) :;}, Quest =[Tan(0) + Sec(@)]}, ,

=[5

3 y - B
No8 = [A = 7, B =2 n, Condition = [Cot(e) =g}, Quest =[Csc(0) + Cos(e)]}, , {—(}

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

N07=[A zg, B =, Condition :[Sin(e) =%}, Quest =[Cos(0) + Tan(e)]}, ,[

X [Page = 0025]
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TrigonometryExercise3 for No.12256

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK K KKK KKL KKK KKK KKK KKK KKK XKKKKKKMS/1-6400303-00026XX

[ 17 7 |
I=m 6=— _ _
4 1=270° .6=(-2490)°
Lo, 20 2=225° 7 =855°
6 3 3=330° .8=(-2040)°
REs 17w o
Nol=|.3=—— 8= , No2 = . 270
4 6 4=(-60) 9=|—
T
=25 9o 0
T3 ' - o (340
5=(-1800)° .10=|-
31n L T J |
=" 10=-45

i}, Quest = Cos(0) }, ,

|
|

No3 = [ Conditionl = [Tan(0) < 0], Condition2 = [ Sin(0) =

No4 = [ Conditionl = [ Cot(0) =-6], Condition2 =0 < Sec(0)], Quest = Sin(0)],

wrfara ||

A=0, B=", Condition = [ Csc(8) = 2], Quest = [Cot(8) — Sec(0)]
No6:[A —n B :7“, Condition :[(xc(e) =ﬂ Ouest = [ Sec() — Cot(e)]}, [
3

N07:[A ZTE,B:2 n, Condition =[Sin(9) :%}, Quest=[Cot(0) — COS(e)]:|, ,[

b

NSmaNSE

0026]

s -7 A2)
No8 = [A = E’ B =mn, Condition = [ Sec(0) = E}, Quest =[Csc(0) + Cot(e)]}, , [—
O0/0:0:0:0:010:010:0:0:0:0.00.0.0.0.0.0.0.:0.0:0:0:0:0.:0.0.0.0'0:0.0:0.0.:0.0.:0.0.:0.0.0.0.0.0'0.0.0.0.0.:0:0.0.0.0.0.0.0:0.0:0:0.0.0.0.:0.0.0.0.0.0:0.0.0.0:0:0.0:0.0.0.0.0.0.0.0:0.0.0:0'0:0.0:0. 0.0

o«



X

N08—[A =5,B =1, Condition =[Csc(0) = 7], Quest = Tan(0) — Cos(@)]} ,{
[Page = 0027]

TrigonometryExercise3 for No.12278
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[ 41 7 |
I=m 6=— _ _
6 1=90° .6=(-2550)°
S r o 3m 2=120°  .7=1020°
6 3 3=(-225)° .8=(-495)°
K 39xn o
Nol=| 3=— 8= , No2 = . 90
4 4 4=150 9=|—
T
VLR 0
T3 o - 0 _(_ 810
5=(-720)° .10=|-
15n L T J |
S=—," 10=35

1

1
No3 = [ Condition] =[Tan(0) < 0], Condition2 = [ Sin(0) = —} Quest = Sec( 9) {
No4 = [

[ Conditionl = [Tan(0) = 7], Condition2 = [Sin(0) < 0], Quest = Sec(0)],

B

N05=[A :0,B:§, Condition =[Tan(6):%}, Quest =[Sec(0) + Sin(e)]} ,[

No6 [A ZT’B: 2 nt, Condition = [Tan(0) =-2], Quest =[Cos(0) + Sin(e)]} ,

i‘

|

|

N07—{A =n,B=7n, Condition = [Sec(0) =-4], Quest =[Sin(0) —Tan(e)]} ,[

|
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TrigonometryExercise3 for No.12482

T 35w
d== 6= ] _
2 4 1=180°  .6=(-2550)°
Lo 2t Dm 2=135° 7= 1845°
3 3 3=330° 8=(-840)°
S5n 55T o
Nol=| 3=—""" 8=- ,No2 = o 180
6 6 4=60 9=|—
T
K3 o
.4:—4 9:3 o 450
5=(-2880)° .10=|-——
21 ¢ L T J |
S=-T 10=225

4
No3 = [ Conditionl = |:COS( 0)= } Condition2 = [ Cot(0) < 0], Quest = Sin( 6) {

«b
| |

No4 = [ Conditionl =[0 < Cos(0)], Condition2 = [Tan(0) = -4], Quest = Csc(0) ] [

\3

~ NS
1~

No5 =[A =0,B =§, Condition :{Sec(e) =z}, Quest =[Sin(0) — Cot(e)]}, ,{

3n
Nob6 = [A:T B =2, Condition =[Tan(0) =-1], Quest = [ Cos(@)—i—Sm(G)] {

No7 = [A I, B—% Condztzon—{Cos(e)——z} Quest—[Csc(6)+Tan(6)] {

No8 = [A = g, B =, Condition =[Sin(9) = g}, Quest =[Cos(0) — Cot(e)]}, ’ {ﬂ}

«b«\a
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TrigonometryExercise3 for No.12586

87
I=m b6="" _ _
3 1=270° .6=(-1035)°
P ik 2=(-240)° .7=(-2040)°
3 4 3=(210)° .8=(-1590)°
T 197w o
Nol=| 3=—" 8= ,No2 = o 90
4 6 4=(-225)°  9=|—
In o
5=(-1710)° .10=|—
omn L T /]
S=—  .10=05
i 2 ]

[ =—_, B=mn, Condition =[Cot(0) =-1], Quest =[Sin(0) — COS(O)] [L()}
| =5 } 12
No7 = A=— B =2, Condition =| Sec(0) =", Quest =[Cot(0) + Sin(0) ] , —(

No8 = [A =n,B =371c’ Condition = [Csc(e) =%}, Quest =[Tan(0) - Sec(@)]}, ,{
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TrigonometryExercise3 for No.12677

16w
I=mn 6= _ _
3 1=90° .6=(-2190)°
Lo2r L _TIm 2=135°  .7=2280°
3 6 3=(-60)° .8=(-1935)°
T 49 1t o
Nol=| 3=— 8= , No2 = ) 270
6 4 4=(210)° 9=|—
T
o2 9 0
A== = B o [ 630
5=(-450)° .10=|-—
Tn L T J ]
S=—  10=15
I 2 ]

1
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = —} Quest = Cos( 9) {
No4 = [ Conditionl = [Tan(0) = 7], Condition2 = [Sin(0) < 0], Quest = Cos(0)], {

«bﬁ

1

Yo

N05:{A =0,B=§, Condition = [Sec(0) =21, Quest =[Cot(0) + Sin(e)]} ,[—

N

(
No6:{A:E B =m, Condition =[Csc(0) =21, Quest = Sec(0) — Cot(e)] ,[—()}
3n - 5 . Y,
No7 = {A :7, B =2 n, Condition = |:COS(9) :E}’ Quest=[Tan(0) — Sln(e)]}, , [—(}
3n - 1 . 1/7
No8 = {A =m,B =7’ Condition = [Tan(e) = Z}, Quest =[Cos(9) + Sln(e)]}, , [—(}
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TrigonometryExercise3 for No.13490

R 231w
d=—— 6= _ _
2 6 1=180° .6=(-1950)°
Pk 2=(-240)° .7=(-780)°
6 4 3=(-30)° .8=(-585)°
R 11 xw o
Nol=| 3=—— 8= , No2 = . 360
4 3 4=145 9=|—
2n "
5=1440° 10=|—
117w L T ) |
S=- 10=-6.5
L 2 4

5

1
No3 = [ Conditionl =[Cos(0) < 0], Condition2 = [ Sin(0) = —}, Quest = Cot(e)}, , {—}
No4 = [ Conditionl = [ Cot(0) =-1], Condition2 =0 < Sin(0)], Quest = Sec(9)], ,{

Nos = [A ~0,B= g Condition =[Sec(9) =ﬂ OQuest = [Tan(6) sm(e)]}, , [

‘\‘\, ..
[

Nob6 = {A =m,B= 3771’ Condition = [Tan(e) = %}, Quest =[Sec(0) — Sin(e)]}, , [—()}
T 11 2)
No7 = [A :E’ B =m, Condition = [Csc(e) =:}, Quest=[Cot(0) — Sec(e)]}, , {—(}

’\‘\.
L 1

3 i .-
N08={A =7n, B =2, Condition {Cc)s(e) =ﬂ, OQuest = [ Csc(0) + Tan(@)]}, [ _
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TrigonometryExercise3 for No.13500
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[Page =

[ 3m 41 7 |
I=— 6= i} _
2 6 1=180° 6=1410°
L,z 2 2=(-135)°  .7=(-405)°
3 3 3=240° 8=2280°
T 39 o
Nol=| 3=—— 8=-— . No2 = ) 180
4 4 4=(-150)° 9=|—
4=——  9-5 "
A== 9= ) ) (99
5=(-2790)° .10=|-—
O L 0
S=—— 10=-15
i 2 |

1
No3 [ Conditionl = [Cos( 0)= g}, Condition2 = [Csc(0) < 0], Quest = Cot( 9)} ,

No4 = [ Conditionl =[Sec(0) < 0], Condition2

1
N—

1
|

Cot(0) = 6], Quest = Sin(0)], ,

[ won=| counr =3 | 2
No5=|A4=0 BZE’ Condition =| Cot(0) ="~ Quest—[Sec(6)+Csc(9)] ,
T

3
No6 {A :E’ B =, Condition :[Sin(e) = } Quest =[Sec(0) + Cot(O)] , {
B 3n

(
7
No7 [A——B 2 rt, Condition = [ Csc(0) =-3], Quest =[Tan(0) COS(@)]} ,

NG

N

= 0032]

5
N
No8 [A m, B = 5 ,Condition=[Cos(6)=?}, Quest =[Sin(0) Tan(e)]} ,[ﬁ

’ }
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o«
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TrigonometryExercise3 for No.13637

3m 23 1
J=——  6=-— i} _
2 4 1=90° .6=855°
Lo r o Dm 2=150°  .7=(-2280)°
6 3 3=225° 8 =1230°
41 31w
Nol =| .3=

- 8= , No2 = . 180 )’

3 6 4=(-60)° 9=|—
s

T

. 810 )
5=720° 10=|-—

T

10=25

1
No3 = [ Conditionl =[Csc(0) < 0], Condition2 = |:COS(9) = g}, Quest = Sin( 6)}, , |:
No4 = [ Conditionl =[Csc(0) < 0], Condition2 =[Cot(0) = 7], Quest = Csc(0)], {

2

B

No5 =[A =0,B =§, Condition :{Sin(e) =%}, Quest =[Sec(0) + Cot(e)]}, ,{

| I |

ERE

N06={A :g, B =m, Condition =[Csc(0) =21, Quest = [ Cot(0) + Cos(@)]}, ,[

=

N07=[A:n,B:32—n,Condition:{Sec(O)z-l?o},Questz[Cot(G)—Sin(G)]}, ,[ (}

3n y ! | Vo
No8 =[A =7’ B =2 n, Condition =[Cos(9) =5}, Quest =[Sin(0) + Tan(@)]}, , {—(}
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TrigonometryExercise3 for No.645101

T 137w
I=— 6= _ _
2 4 1=270° .6=(-1380)°
L., 20r 2=150°  .7=1650°
4 3 3=(-135)° .8=(-855)°
11 n 95 1 0
Nol=|.3= 8= , No2 = . 90
6 6 4=300 9=|—
2n "
5=(-630)° .10=|-——
AN L T J |
5= 10=55

&

;

1
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = |:COS( 0)= —} Quest = Cot( 9) {

(s

No4 = [ Conditionl = [0 < Csc(0)], Condition2 =[Cot(0) =-7], Quest = Cos(0)], {

No5 = {A =0,B zg, Condition =[Sin(9) :%}, Quest =[Tan(0) — Sec(e)]}, , [

,Q‘:if]‘\‘zif
|—|I—I

No6 = [A =§, B =, Condition = [cm(e) :ﬂ Ouest = [ Cse(0) — Sec(e)]}, , [

3 1
No7:{A =7n,3 — 2 . Condition {Sin(e) =ﬂ, Ouest = [Cos(0) —Tan(e)]}, [

-

No8=[A=n,B=37n, Condition=[Tan(9)=§}, Quest=[Csc(9)—Cos(9)]}, ,[ (
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TrigonometryExercise3 for No.645102

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX KKK KKK KKK KKK K KKK KKL KKK KKK KKK KKK KKK XKKXKKKMS/1-6400303-00035XX

i T 59 1t |
I=— 6= i} i
2 4 1=270°  .6=1950°
Lo, A0 2=60° .7=(-2460)°
4 3 3=225° .8=2475°
b 55 n o
Nol=| 3=——7" 8= , No2 = o 270
6 6 4=330° 9=|—
T
gL g3 o
T3 ' oo [ 720
5=720° 10=|-
25w L b |
S=- 10=25

3
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = [ Sin(0) = —}, Quest = Cos( 9)},

No4 = [ Conditionl = [ Cot(0) =-7], Condition2 =0 < Sin(0) ], Quest = Sec(9)],

- 1
N05={A ZO,B:E, Condition :[Tan(9)=

b

1

B

3}, Quest =[Cos(0) — Csc(e)]}, ,{
Noéz{A :%, B =2, Condition =[Csc(0)=-2], Quest =[Tan(0) + Sec(0) ]

b
N07:{A =§,B: n, Condition =|:COS(9) =%}, Quest=[Cot(0) — Sin(e)]}, ,[

e
o
No§ = [A B 7“ Condition = [ Sin(0) = 74} OQuest = [ Sec(8) Tan(e)]}, , ﬂ}
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55

|

X [Page =

0035]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXKXKXXKKX XX XKXKXKXXXKKX KX KKXKKX KX XXKXKX KX XXKKX KX KXKXKXKKXKKXME /1-6400303-00036XX
TrigonometryExercise3 for No.645103

67
I=m 6= _ _
6 1=90° .6=(-1755)°
L,z B 2=300°  .7=(-2310)°
6 3 3=(210)° .8=(-960)°
27[ 171I o)
Nol=| 3=—7 8=- ,No2 = o 180
3 4 4=315 9=|—
T
PRI o
4= 9= B o (810
5=(-1440)° .10=
131 L T J ]
S=- 10=0.5

1
No3 = { Conditionl = |:COS( 0)= Z}, Condition2 =[Csc(0) < 0], Quest = Tan(0) }, ,

1
I

No4 = [ Conditionl = [ Cot(0) = 1], Condition2 =[Csc(0) < 0], Quest = Sec(0)],

| |

3

No5 =[A =0,B :g, Condition =[Csc(6) 25}, Quest =[Sec(0) — Tan(e)]}, ,{

I

Nob6 = [A =m,B :37n’ Condition ={Sin(6) :%}, Quest =[Sec(0) — Tan(@)]}, ,{

3 10
N07:{A =Tn,B:2 n, Condition =[Sec(9) =?}, Quest =[Sin(0) + Cot(e)]}, ,{

=5 = Contion=| o) =3, | [
No8 = A=E,B=n,Condztzon= Cos(9)=5 , Quest =[Csc(0)+Cot(0)] |, ,| —

|
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TrigonometryExercise3 for No.645104

i 17 1t |
d=x 6= _ _
6 1=270° 6=1770°
Lo, 3B 2=60° 7= 480°
4 4 3=(225)°  .8=1305°
57 43 1 o
Nol=| 3=— 8= . No2 = . 360
6 3 4=330 9=|—
T
PEELER 0
T3 ' oo (720
5=720° .10=
3l m L T A
=== 10=-25

1
No3 = [ Conditionl = [Cos( 0)= g}, Condition2 = [Cot(0) < 0], Quest = Csc( 6)}, ,

| I |

No4 = [ Conditionl =[0 < Sin(0) ], Condition2 = [ Tan(0) =-7], Quest = Cos(0) ],

2

1

SEHE

5
No5 = {A =0,B= g, Condition = [Tan(e) = E}, Quest =[Sin(0) + COS(G)]:|,

yis -1
No6 = [A :E’ B =n, Condition = [c%(e) = g}, Quest =[Tan(0) — Csc(O)]},

N07=[A = n,BzTTE, Condition = [Tan(0) = 1], Quest =[Sec(0) + Csc(e)]},

.
N08={A =7n, B =2, Condition =[C0t(9) =ﬂ, Quest = [ Sec() + CSC(@)]}, {

1
| IS

-

—

1
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[ 37 141 |
I=—— 6= _ _
2 3 1=180° 6 =12850°
Lo 4 D 2=(-45)° .7=(-1140)
3 6 0 0
3=(-150)° .8=(-2385
11 43 1 ( ) ( 2)
Nol=|.3=— 8=— , No2 = . 180
6 4 4=60 9=|—
57 T o
A== 9=4 . 70
5=2160° .10=|—
117w L T
S5=— > 10=25

3
No3 = [ Conditionl = [Csc(0) < 0], Condition2 = {Cos( 0)= —} Quest = Csc( 9) [

‘j

No4 = [ Conditionl = [ Cot(0) =-2], Condition2 =[0 < Cos(0)], Quest = Csc(0)], {

ﬁ

No5 [A 0,B=— Condltzonz[Tan(e):4],Quest:[Cos(6)+Csc(6)]} ,{
3n

I

No6 {A——B 27 Condmon—[Tan(@):-l],Quest:[Sec(G)—i-Csc(O)]} ,{
3

§

No8 {A—_B nt, Condition = [Csc(0) = 8], Quest = [ Cot(0) Cos(e)]} ’[1/7}

M
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=[5
|

X [Page =

No7 [AITE,BI_ Condition:[Sec(9)=-5],Quest:[Csc(O)JrCot(G)]} ,
= 0038]

<[54
| I

(
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[ 357
I=m 6= _ _
6 1=90° .6=(-1950)°
L2, B 2=330°  .7=(-1200)°
3 3 3=120°  .8=2295°
S5n Om o
Nol=| 3=— . §=— | No2= ) 360
6 4 4=135 9=|—
n t
.4=— 4 9:4 o 810
5=(-1170)° .10=|—
7m L T J |
S=——— .10=15
i 2 ]

2
No3 [ Condition] =[Tan(0) < 0], Condition2 = {Cos( 0)= —} Quest = Csc(0 )} ,

No4 = [ Conditionl = [0 < Sec(0)], Condition2 , [

No7 [A—T B—2Tc,Conditionz[Sin(@)z?},Questz[Cot(e) COS(G)]:| ,[
3

|
|

Tan(0) =-2], Quest = Sin(0)],

No5 = {A 0, B—— Condition =[Csc(0) =2], Quest =[Cot(0) — Sec(e)] ,[

-5
No6 {A :E’ B =m, Condition = {Cot(@) = } Quest =[Sin(0) + Cos(O)] , [
B 3n

“‘ib«\a

~ NS

= 0039]

«‘f\

No8 [A m, B = 2,Conditionz{Tan(9)=§},Questz[Sec(e) Csc(e)]} ,{ﬁ

’ }
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TrigonometryExercise3 for No.645107

i T 347 |
I== 6=- ) ]
2 3 1=180°  .6=(-1860)°
PO S 2=(-150)° .7=(-1290)°
6 6 3=135°  .8=(-1215)°
K 37w o
Nol=| 3=—" 8=- ,No2 = o 180
4 4 4=120 9=|—
T
4=—— 9=5 o
=73 : B o (810
5=(-2520)° .10=|—
27 ¢ L T J ]
S=- 10=2.5

2
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [ Sin(0) = ;}, Quest = Sec(e)}, , l:

I |

No4 = [ Conditionl =[0 < Csc(0)], Condition2 =[Tan(0) =-4], Quest =Cos(0)], , [

| I

No5 = {A =0,B zg, Condition = [Tan(e) =§}, Quest =[Cos(0) + Csc(e)]}, , {

\ﬁ*‘ﬁ

3n -2
Nob6 = [A:T B=2m, Condztzon—[Sm(e)— } Quest = | Sec(9)+Cot(6)] {

2
'

n 3 5 ﬁ
No8 = [A =5, B =n, Condition = [Tan(e) = g}, Quest =[Cos(0) + Csc(@)]}, , {—(}
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N07:[A =

e

n,B= 377:, Condition = |:COS(e) = —5} Quest =[Sin(0) + Cot(e)] {
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TrigonometryExercise3 for No.645108

i 467 |
I=mn .6= _ _
3 1=90°  .6=(-1140)°
Lo 3, O 2=315°  7=(-1935)°
4 6 3=(-210° .8=(-510)°
Sw 25w o
Nol=| 3=—"  8=- ,No2 = o 360
3 4 4=(-120)° 9=|—
T
=2E 9o 0
76 o neno _( 310
5=1080° .10=
S5n L T J ]
S=—"— .10=45
i 2 ]

2
No3 [Condition] =[Sin(0) < 0], Condition2 = |:COS(9) = —} Quest = Cot(e)

No4 = [ Conditionl = [Sin(0) < 0], Condition2 = [ Cot(0) =-3], Quest = Cos(0)],

N05:{A =0,B =§, Condition :[Sin(e) =%}, Quest =[Cos(0) —Tan(e)]} ,[
3n

No6 [A nB—T Condition:[Sec(@):-7],Quest:[Csc(6)+Cot(9)]} ,{

No7 [A —7,B=2 n, Condition =[Tan(6) zg}, Quest =[Csc(0) — Sec(e)]} ,{

No8 = [A—EB n, Condition = [Cot(0) =-1], Quest =[Csc(0) — Sec(e)] ,{

[
|7

\g\j\j 5

\‘ﬁ
L 1
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TrigonometryExercise3 for No.645109

RN
d=m .6 = _ _
3 1=270° .6=1305°
oo &, I 2=240°  .7=(-1230)°
3 6 3=(-150)°  .8=660°
T RN o
Nol=| 3=— 8= , No2 = ) 180
4 4 4=135°  9=|—
T
4=——  9=5 0
: p : o (630
5=1800° .10=|—
1= L o
S=- 10=55
2 i

wj

1

3
No3 = [ Conditionl =[Cot(0) < 0], Condition2 = [Cos( 0)= —} Quest = Sin( 6) {

No4 = [ Conditionl =[Cot(0) = 5], Condition2 =[Sin(0) < 0], Quest = Cos(0)],

i‘

No5 =[A =0,B =§, Condition :{Sec(e) zg}, Quest =[Csc(0) — Cot(e)]} ,[

=[5
|

No6 = [A :g, B =, Condition = [c%(e) - ﬂ Ouest = [ Cse(0) + Tan(@)]}, , {

3n -6 ub)
No8 = [A =n,B= 7, Condition = [Csc(e) =g}, Quest =[Tan(0) + Sec(@)]}, , {—(}

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

3 -2
N07:[A ZTE, B =2 n, Condition =[Sin(9) :7}, Quest=[Cot(0) — COS(e)]:|, ,[
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TrigonometryExercise3 for No.645110

Nol =

d=x
5w
2=——
4
27
3=—"
3
S5m
A=——
6
11
S=-

10=25

, No2 =

1=270°
2=315°
.3=300°
4=(-30)°
5=(-2520)°

6=1230°
7=(-1935)°
8=(-2460)°

2]

630
.mz(_—)
T i

1
No3 = [ Conditionl = [ Sin(0) = 5}, Condition2 =[Sec(0) < 0], Quest = Cot( 9)

No4 = [ Conditionl =[0 < Csc(0)], Condition2 =[Cot(0) =-7], Quest = Csc(0)],

N05=[A :0,B:§, Condition = [Tan(0) = 3], Quest = [Sin(e)—COS(O)]}, ,[

REs
Nob6 = [A =——, B=2 =, Condition =

27

[c%(e)_ 3} Quest—[Csc(9)+Cot(6)]} ,{

b

-7
No7 = {A =§, B =n, Condition = {Cot(e) :Z}’ Quest =[Sin(0) + COS(@)]}, ,

N08={A =mn,B =377t, Condition = [Sec(0) =-4], Quest =[Sin(0) — Cot(e)]}, ,[
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TrigonometryExercise3 for No.645111

T 67
I== 6= ) ]
2 6 1=270° .6=(-1020)°
o 4m o 27m 2=(-150)° .7=(-2565)°
3 4 3=135° 8=1110°
K 137w o
Nol=| 3=— 8= , No2 = . 270
6 3 4=(-60)° 9=
TU
g=1E g 0
4= J= B o (900
5=(-1530)° .10=|—
23 ¢ L T ) |
== 10=-65

3
No3 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Sin(0) =

g}, Quest = Tan( 6)}, , [

No4 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Cot(0) =-3 ], Quest = Sin(0)],

|
|

2

No5 = {A =0,B= g, Condition =[Sec(9) =%}, Quest=[Cot(0) — Csc(e)]}, , [ }
No6 = [A :g, B =, Condition = [Tan(e) - ﬂ Ouest = [Cos(0) + CSC(O)]}, , { }
No7 = {A ZTR, B =2 n, Condition = [Csc(e) =§}, Quest =[Tan(0) + Cos(e)]}, , [

[ 3w } {ﬁ}
No8 = A=n,B=T, Condition =[Sec(0) =-5], Quest =[Csc(0)+ Cot(0)] |, ,| ——
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R 377 |
d=——"—  6=- _
2 3 1=180° .6=(-1755)°
Lo 4r o 3¢ 2=330°  .7=(-1230)°
3 4 3=(-60)° .8=(-660)°
S5n 197w o
Nol=| 3=—""" 8=- ,No2 = o 90
4 6 4=(45)°  9=|—
T
PR 0
6 o _ 0 _ fggl
5=1800° .10=|-
21 ¢ L T J ]
S=-T 10=-55

3
No3 = [ Conditionl =[Sin(0) < 0], Condition2 = |:COS( 0)= —} Quest = Cot( 9) {

«b
| |

No4 = [ Conditionl = [Tan(0) = -1], Condition2 = [0 < Sec(0)], Quest = Csc(0)], {

‘j

5

No5 [A 0,B _E Condition :{Sec(e) = %}, Quest =[Cot(0) — Sin(e)]} ,{
=% [co0=3 ¥
Nob6 = Cot(0) = Quest=[Sec(0)+Csc(0)] |, ,

A —7 B =2 n, Condition =

NS
L 17N

|

=

= 0045]

N07:[ =— Condztzon—[Tan(G)—§},Quest:[Cos(9)+Csc(9)]} [ (}

-1 )
No8 {A—— B=m, Conditionz{Cos(9)=E , Quest =[Csc(0)+Cot(0)] |, ,| ——
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i T 13 |
I=— 6=- _ _
2 3 1=270° 6=1755°
L3, O 2=300° 7=390°
4 6 3=210°  .8=(-1740)°
T 35w o
Nol=| 3=—" 8§=— ,No2 = o 270
3 4 4=(-225) —
T
4= 9=5 0
6 ' _ 0 240
5=(-2520)° .10=|-
11mn L T /)
5= 10=-15
i 2 ]
. 2
No3 = [ Conditionl = { Sin(0) =—

9

No4 = [ Conditionl = [Tan(0) = 5], Condition2 = [Cos(0) < 0], Quest = Csc(0)],

T
N05=[A :(),B:E, Conditi0n=[C0t(e) =

b

}, Condition2 = [Cot(0) < 0], Quest = COS(G)}, , [

R

1

7},Quest:[Sin(G)—Sec(O)]}, { '
N06:[A=—R,B=2n,Condition:[Csc(B)z?},Quest:[Cot(G)-i-Cos(G)]}, {

No7:[A — = B=n, Condition {Cc)s(e) =ﬂ Ouest = [ Csc(0) + cm(e)]}, [
3

No§ = [A B =7n, Condition =[Sec(9) =ﬂ Quest = [ Csc(0) + Cot(e)]}, , [

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢
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3w 13 7 |
1 == 6:— _ _
2 3 1=90° 6=2010°
22t S BT 2=(-225)°  .7=(-1935)°
4 6 3=330°  .8=(-1200)°
27 291 5
Nol=| 3=—"7 .8=- , No2 = 0 270
3 4 4=(-240)° 9=|—
n T .
4= o=1 . 720
5=(-2520° .10=|-—
11x L s |
S=- 10=-65
i 2 |

3
No3 = [ Conditionl = [Cos( 0)= E}, Condition2 = [Csc(0) < 0], Quest = Csc( 9)}, ,

|

|
|

=[5
| |

No4 = [ Conditionl =[Cos(0) < 0], Condition2 = [Tan(0) = 4], Quest = Sin(0)],

N05=[
2

A=0,B =£, Condition = [Tan(0) = 1], Quest =[Sec(0) + Csc(e)]}, ,[
3n -5 .

Nob6 = [A =m,B :7’ Condition = |:COS(9) :H}, Quest=[Sin(0) + Tan(@)]}, ,{

N07=[A=£,B=n, Conditionz[Csc(O)z%}, Quest:[Cot(e)JrCos(O)]}, ,{ }

3

- ion = Tn0)=3 | ][]
No8=| A=—"",B=2mr, Condition = Tan(9)=z , Quest =[Cos(0) +Csc(0)] |, ,
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- 49 n
I=m 6=— _ _
6 1=270°  .6=(-1845)°
S, r o 6n 2=210° .7=1560°
6 4 3=120° .8=(-1410)°
5w 291w o
Nol=| 3=—" 8=- , No2 = o 360
4 3 4=135° 9=|—
4n S
.4: 3 9:5 o 810
5=1710° 10=|-—
13 m L T J |
S=-T 10=-25

1
No3 = [ Conditionl = [ Sin(0) = —} Condition2 = [ Cos(0) < 0], Quest = Tan( 9)

No4 = [ Conditionl = [0 < Csc(0)], Condition2 = [ Tan(0) = -4 ], Quest = Sec(0)],

):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
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ﬁ«b

L
e

«‘é\
I

N05=[A :0,B:§, Condition =[Tan(6):%}, Quest =[Sec(0) — Sin(e)]} ,[

| I |

N06:[A :37n’ B =2 mn, Condition =[Sec(0) =3], Quest =[ Cot(0) — Sin(@)]}, ,{

L1

N07:{A = Tc,B=37n, Condition = [Cot(0) = 1], Quest =[Sin(0) + Sec(e)]}, ,[

n 3 1 b
No8 = [A =5, B =mn, Condition = [c%(e) =;}, Quest =[Tan(0) — Csc(@)]}, , {—(}
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RE 67n
I=— 6= _ .
2 6 1=180° .6 =2850°
L., 2 2=120°  .7=(-1665)°
3 3 3=(-330)° .8=(-2040)°
T 27 1 o
Nol=| 3=—"7" 8=- ,No2 = o 360
6 4 4=315 9=|—
3 "
.4:— 4 9:3 o 540
5=1710° .10=|-—
297 L T )
5== 10=6.5

1
No3 = [ Conditionl = [ Sin(0) = —} Condition2 = [ Cos(0) < 0], Quest = Tan( 9) [ }

No4 =

‘j

[ Conditionl = [Sin(0) < 0], Condition2 =[Cot(0) =3 ], Quest = Cos(0)], [

No5 = [A =0,B =§, Condition = {Csc(e) zg}, Quest =[Sec(0) + Cot(e)]}, , [

gk

No6 = {A :3771, B =2 n, Condition = |:COS(9) :i}, Quest =[Csc(0) + Tan(@)]}, , [ }
2]
ﬂ}
o

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

9
N07=[A =§, B =, Condition =[Csc(6) :5}, Quest =[Cos(0) — Cot(e)]}, ,

3 9
No§ = [A B =7n, Condition =[Sec(9) =ﬂ, Quest = [ Csc(0) + Cot(e)]}, , [
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35~n
1= .6 = _
3 1=270° 6= 1860°
P A S 2=(-240)°  .7=1035°
3 6 3=(-225)° .8=(-2130)°
117’[ 191‘[ o
Nol=| 3= == ,No2 = o 360
6 4 4=(30)°  9=|—
Tm T o
.4: 4 9:2 o 450
S5=1710° . 10=|-——
S5m L T )
S=—"—"— 10=-05
. 2 ]

|
|

5
No3 = { Conditionl = [ Sin(0) = 1—} Condition2 =[Sec(0) < 0], Quest = Cot( 9) [

e

No4 = [ Conditionl =[0 < Cos(0)], Condition2 = [Tan(0) =-2], Quest = Sin(0) ], [

£
|

No35 = [A OB_; Condition = [Sec(0)=3], Quest—[Sln(9)+Tan(9)] ,{

é“\\,

Nob6 = [A_EB nt, Condition =[Cot(0) =-1], Quest =[Sin(0) — Sec(@)]} ,[

= ‘

3 5
N07=[A =Tn,B:2 n, Condition =|:COS(9) zg}, Quest =[Sin(0) + Tan(e)]}, ,{

3n 1 A
N08=|:A=TE,B=_2 , Condition = Tan(6)=Z , Quest =[Cos(0)+Csc(0)] |, , —(
O0/0:0:0:0:010:010:0:0:0:0.00.0.0.0.0.0.0.:0.0:0:0:0:0.:0.0.0.0'0:0.0:0.0.:0.0.:0.0.:0.0.0.0.0.0'0.0.0.0.0.:0:0.0.0.0.0.0.0:0.0:0:0.0.0.0.:0.0.0.0.0.0:0.0.0.0:0:0.0:0.0.0.0.0.0.0.0:0.0.0:0'0:0.0:0. 0.0
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Nol =

1
No3 = [ Conditionl = [ Sin(0) = g}, Condition2 = [ Tan(0) < 0], Quest = COS(@):|, ,
No4 = [ Conditionl = [ Cot(0) =-1], Condition2 =0 < Sec(0)], Quest = Sin(0)],
1
NoS5 = [A =0,B =§, Condition :{Sin(e) =—} Quest =[Cot(0) — Sec(e)] , {
3n
Nob6 = {A n, B —7 Condition =[Tan(0) = 1], Quest =[Cos(0) — Sm(e)] [
No7 = [A :E B =mn, Condition =[Cot(0) =-1], Quest =[Sec(0) — Csc(e)] {

3 i
N08={A =7n, B =2, Condition {Cc)s(e) =ﬂ, Ouest = [Tan(6) Csc(@)]}, [
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d=x
5w
2=——
3
11w
3=
6
S5m
A=——
4
17w
S=-
2

10=3.5

, No2 =

1=90°
2=(-120)°

3=315°

4=30°

.6=870°
.7=(-2220)°
8=(-1575)°

180 )
.9:(—j
T

. 450\
5= (-2430) .10:(—)
T _

7]

|

BN

:(
ki
:(

-«\aﬁﬁ

|
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TrigonometryExercise3 for No.645119

i 10 7t |
I=m 6=— _ _
3 1=270° .6=1125°
Lo Ir BT 2=120°  .7=2820°
4 6 3=(-45)° .8=1290°
5m 43 o
Nol=| 3=—"" 8=- ,No2 = o 360
3 4 4=30 9=|—
11n T )
5=1080° .10=|—
29 1 L T i
5= 10=-15

3
No3 = [ Conditionl = [Tan(0) < 0], Condition2 = [ Sin(0) = —} Quest = Cos( 9)

No4 = [ Conditionl = [Tan(0) = 5], Condition2 =

wj

1

[Sin(0) < 0], Quest = Cos(0)], {

N05=[A =0,B:§, Condition = [Tan(0) =21, Quest = [Csc(e)—Cos(e)]} ,{

i‘

N06:[A :7’ B =2 mn, Condition =[Sec(0) =3], Quest =[ Tan(0) — Csc(@)]}, ,
N07=[A =§,B =1, Condition =[Cos(6) :§}, Quest =[Csc(0) + Tan(@)]}, ,{ }

4= ondion=| 1m0~ | 57
No8 = A=n,B=T, Condition = Tan(6)=§ , Quest =[Cos(0)+Csc(0)] |, .|~
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TrigonometryExercise3 for No.645120

R 61w
I=——"— 6= _ _
2 6 1=90° .6=(-2100)°
Lo Ir ,_ Dr 2=(-240)° .7=(-2670)°
6 3 3=135° .8=(-2835)
K 53xw o
Nol=|3=-—" 8= , No2 = . 180
4 4 4=(30°  9=|—
2n "
S5=(-1710)° .10=|—
17n L T J |
5= 10=-1.5
i 2 ]

1
No3 = [ Conditionl =[Csc(0) < 0], Condition2 = |:COS(9) = g}, Quest = Sin( 6)}, ,

No4 = [ Conditionl = [ Cot(0) =-7], Condition2 =[Csc(0) < 0], Quest =Csc(0)], ,

— 1

B

T 4 | V)

No5 = [A =0,B= E, Condition = |:COS(9) = H}’ Quest =[Sin(0) + Tan(e)]}, , {—(}
i -9 . .

No6 = {A :E’ B =m, Condition ={Sec(6) = Z}, Quest =[Sin(0) + Tan(@)]}, , [—(}

(O8]

| I

No7 = {A =m,B :3771’ Condition = [Cot(e) =§}, Quest =[Sin(0) + COS(G)]:|, ,[

|
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No§ = {A =7n, B =2, Condition |:CSC(9) =ﬂ, OQuest = [ Sec() + CO‘[(G)]}, {
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TrigonometryExercise3 for No.645121

37w
I== 6= _ _
3 1=270° .6 =2040°
L, ,_ 8= 2=300°  .7=(-1665)°
4 6 3=210° .8=(-2310)°
T 41 =t o
Nol=| 3=— .8§=- , No2 = ) 270
3 4 4=225 9=|—
sm "
4=- 6 9=5 . 900
5=(-2880)° .10=|-——
15= L T /)
S==_" 10=-25

1
No3 = [ Conditionl = { Sin(0) = g}, Condition2 = [Cos(0) < 0], Quest = Cot( 9)}, ,

|
|

55

No4 = [ Conditionl = [Sec(0) < 0], Condition2 = [ Tan(0) =-7], Quest =Sin(0)], ,

~— .
~

| |

4

~

[#=0.5=5: Conton=| o) = b2
No5 = A=0,B=;,C0ndztzon: Cot(0)=—|, Quest=[Sec(0)+Csc(0)] |, ,| ——

N

| I

No6 = [A =§, B =, Condition = |:C0t(9) :ﬂ, OQuest = [Sin(0) + Sec(@)]}, , [—

\/"\

N07=[A = n,B:32—n, Condition = [Tan(0) = 1], Quest =[Sec(0) — Sin(e)]}, , [—

| |

‘é‘«

N08:[A=3TR,B:21£,Condition:[Sin(O):%},Quest:[Cot(O)—Cos(O)]}, { (}
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T1n
== 6=-— _ _
6 1=90° .6=(-2385)°
L= , 13T 2=(-330)° .7=(-1830)°
3 3 3=135° .8=1920°
5w 27 n o
Nol=| 3=— 8= , No2 = . 270
6 4 A4=(240)° 9=|—
n "
4:—4 9:6 o 720
5=(-630)° .10=|—
17 L o
S=-" 10=-05

2
No3 = [ Conditionl = [ Sin(0) = 5}, Condition2 = [ Cos(0) < 0], Quest = Tan( 9)}, ,

No4 = [ Conditionl = [0 < Sin(0) ], Condition2 = [ Tan(0) =-6], Quest = Sec(0)], , [—(

No5 = [A =0,B =§, Condition :{Sec(e) = g}, Quest =[Csc(0) — Cot(e)]}, , [—()}
No6 = [A :g, B =, Condition = |:CSC(9) - H Ouest = [Cos(0) — CO‘[(B)]}, , {—()}
3n . 2 2)

No7 = {A :T’ B =2 n, Condition = {Cos(e) =g}, Quest =[Csc(0) + Tan(@)]}, , {—(}

[Page = 0055]

== Comtin= 013 | ][]
No8 = A=n,B=T, Condition = Sec(e)zg , Quest=[Tan(0)—-Sin(0)] |, ,| ——
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. .
I=m b6=—"" _ _
4 1=90° .6=(-2295)°
Lo 2 _Alm 2=(-330)° .7=(-1650)°
3 3 3=(-60)°  .8=960°
T 85m o
Nol=| 3=—7"7" 8=- ,No2 = o 180
6 6 4=135 9=|—
i "
.4=— 4 9:2 o 450
5=(2160)° .10=|—
23 ¢ L b
S=- 10=-05

1
No3 = [ Conditionl = {Cos( 0)= g}, Condition2 = [ Tan(0) < 0], Quest = Csc(0) }, ,

2

No4 = [ Conditionl =[Sin(0) < 0], Condition2 = [ Tan(0) =-2], Quest = Cos(0)], [

s
Nob = {A =0,B= E, Condition = [COS(@) =

B

4},Quest:[Sin(O)—Cot(O)]}, {

T
Nob6 = {A =7, B=""", Condition =[Sec(0) =-7], Quest = Sin(0) + Tan(@)]}, ,
3

| IS

1
=[5
L 1

[Page =

N07:{A =—n,B:2 n, Condition = [Cot(0) =-1], Quest =[Cos(0) + Csc(e)]}, ,
X = 0056]

No§ = [A _ = B—n, Condition = [Tan(e) _ ﬂ OQuest = [Sin(0) + Cos(O)]}, , {
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TrigonometryExercise3 for No.645124

3 91 &t
d=— 6=- ] _
2 6 1=90°  .6=(-1125)°
L., B 2=(-135)°  .7=1680°
6 4 3=(-240°  .8§=870°
K 19w o
Nol=| 3=—— 8= , No2 = . 270
4 3 4=(-330)° 9=|—
4= 9-1 "
773 o - o, [900
5=(-450)° .10=
15n L T J |
S=-"7" 10=25

3
No3 = [ Condition] =[Tan(0) < 0], Condition2 = {Cos( 0)= —} Quest = Csc( 9) [
No4 = [ Conditionl = [Tan(0) = 1], Condition2 = [Cos(0) < 0], Quest = Csc(0)], [

S E

N05=[A :0,B:§, Condition =[Tan(6):%}, Quest =[Sin(0) + Sec(e)]} ,[

3n -3
N06:{A :7,3:2 n, Condition :{Tan(e) :;}, Quest =[Sin(0) + Cos(@)]}, ,[

1
<[5

3
N07:[A =7, B :Tn, Condition = [Csc(0) =-2], Quest = [ Tan(0) + Sec(e)]}, ,

N08={A =§,B — , Condition :[Sin(e) =ﬂ, OQuest = [Cot() Sec(@)]}, { }
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKXMS/1-6400303-00058XX

i 37 177 |
1= 6= i} )
2 6 1=90° .6 =12850°
L2 3 2=(210)°  .7=585°
6 4 3=315° 8=600°
37 14 o
Nol=|3=—" 8=-— ,No2 = o 90
4 3 4=120 9=|—
T
57 o
5=(-720)° .10=|-—
131 L T |
S5== 10=55

NS

1
No3 [Condmon] = { Sin(0) = } Condition2 = [Cos(0) < 0], Quest = Cot(e) {

v

|
|

3«

No4 = [ Conditionl = [ Tan(0) =-6], Condition2 = [ Csc(0) < 0], Quest = Csc(0)], [

!
No6 {A—TB 2n,Conditionz{Csc(O):g},Questz[Tan(9)+Cos(9)]} ,[

o
No7 [A:— B =m, Condition = [Sec(0) =-4], Quest—[Csc(6)+Tan(6)] ,[ ()}

No§ [A B = Condztlon={Cos(9)=_4} Quest = [ Tan(0) — CSC(G)]:| { (}

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

No5 [A 0,B=— Condltzon:[Tan(e):2],Quest:[Sin(9)+Sec(9)]} ,{
3n

N
L—_I’\

AR

X [Page = 0058]
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[ R 537 |
I=— 6= ] _
2 6 1=90° .6=1485°
L, B 2=150°  .7=(-1200)°
3 3 3=(-225°  .8=1290°
17 19 1 0
Nol=|.3=— 8=— , No2 = . 270
6 4 4=(-120)°  9=|—
4== 9=2 e
g T _ 0 _ :Egl
5=1890° .10=|-
11 m L T
S=-" 10=-45

3
No3 {Condmon] {Cos( 0)= 1—0}, Condition2 = [Cot(0) < 0], Quest = CSC(@):| ,
No4 =

w .‘)
.‘(

£
No5 [A OB:E,Conditionz[Csc(e):§} Quest =[Sec(0) — Tan(e)] ,{ }
Noéz{A—g,B:n,Condition:{Sec(B):-g} Quest—[Sln(6)+Tan(6)] [ }

3

L
£
No7 {A m,B= 5 ,Conditionz[Tan(e)zi} Quest =[Sin(0) — 005(9)1} ,
3n

]
No8 [AzT,B=2n,Condition=[Cos(9)=%},Quest=[Csc(9) Cot(e)]} ,[ﬁ}

>
):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

1
1
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47 1t
A=z 6= _ _
3 1=90° 6=(-1125)°
L3, D 2=(-30)°  .7=2130°
4 6 3=(-60)° 8=1140°
S5n 15w o
Nol=| 3=—7" 8=- ,No2 = o 90
3 4 4=(-315) 9=|—
i "
5=(-2520)° .10=|-——
29¢ L T J |
S=- 10=25

1
No3 = [ Conditionl = { Sin(0) = Z}, Condition2 = [ Tan(0) < 0], Quest = Sec( 6)}, ,

No4 = [ Conditionl = [0 < Sin(0) ], Condition2 = [ Tan(0) =-3 ], Quest = Sec(0)], ,

BE

No5 = {A =0,B zg, Condition = [Csc(@) =§}, Quest=[Tan(0) + Cos(e)]}, , {

‘ﬁ
\ﬁ
‘\” L
L

3n
N06:[A :7’ B =2, Condition =[Sec(0) =2], Quest =[Sin(0) + Cot(@)]}, ,

N07=[A =§,B =1, Condition =[Sin(9) :i}, Quest =[Cos(0) — Tan(e)]}, ,{

10 (

-

o

X [Page = 0060] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKKKKK XXX KKKKKKKK KKK XXX KKK KKK KKK KKK KKK KKK KKK KK KKKKKK

N08=[A =T, B=37n, Condition = [Cot(0) = 1], Quest =[Csc(0) — Cos(@)]}, ,{



X
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):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKXKKKMS/1-6400303-00061XX

i T 17 7 |
I=— 6=- ) _
2 6 1=180° .6=(-2640)°
o L I= 2=(-210° .7=1410°
4 3 3=300°  .8=(-1935)°
T 47 1t o
Nol=| 3=—"7" 8=- ,No2 = o 90
3 4 A=(-45° 9=|—
s5n "
.4:— 6 9:4 o 630
S5=720° L 10=|—
Tn L T J
S=——— .10=35
L 2 J

2
No3 = [ Conditionl = |:COS(9) = ;}, Condition2 =[Tan(0) < 0], Quest = Sin(e)}, , [

| IS

No4 = [ Conditionl = [Tan(0) =51, Condition2 = [Csc(0) < 0], Quest =Sin(0)], , [

8
No5 = {A =0,B= g, Condition =[Sec(9) =g}, Quest =[Sin(0) — Tan(e)]}, , [
T
Nob6 = [A =x, B=—"", Condition =

5 {Cot(@):g}, Quest:[Sec(G)—Sin(G)]}, ,{

N07=[A ZTE,B =2 nt, Condition = [ Sec(0) = 8], Quest =[Sin(0) — Tan(e)]}, ,[

s ;*‘f;q_.
A\‘jiw ~ ‘\‘:iw
1
[ L

|

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

s . -5 : V)
No8 = [A =5, B =mn, Condition = [c%(e) = H}, Quest =[Tan(0) — Sm(@)]}, , { }
0061]
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297 |
I=m .6= _ _
6 1=270° .6=(-2400)°
DL I S 2=60°  .7=(-2370)°
6 3 3=135° 8=1845°
4n 391 o
Nol=| 3=—" 8=- ,No2 = o 270
3 4 4=(-210° 9=|—
T
4= 9-4 0
T 4 B o B 540
5=(-2610)° .10=|-—
11mn L T J |
S=- 10=-45
i 2 ]

2
No3 = [ Conditionl = { Sin(0) = } Condition2 = [Cot(0) < 0], Quest = Cos( 9)

No4 =

N05:{

No6 [A =m,B= 7’ Condition = { Sec(0) = ?}, Quest =[Tan(0) — Csc(O)]} ,

No7 [A _;’B: nt, Condition = [Tan(0) =-1], Quest = [ Sec(0) + Csc(e)]} ,[

No8 {A _7’ B =2 n, Condition = {c%(e) =§}, Quest =[Csc(0) + Tan(@)]}, , [

):0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

4=0,B=". Condition = [Sec(6) = 3], Quest = [Csc(6) + Cot(6)]

[ Conditionl = [0 < Cos(0)], Condition2 = [Tan(0) =-2], Quest = Sin(0) ],

H
|

I

| I

-«\a*‘jﬁ =
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TrigonometryExercise3 for No.645130

1 =90° .6=930°
2=150° .7=1860°

3 6 3=(-60)° .§=585°
Tn 221 o
Nol=|.3=—— 8=- , No2 = 0 360
4 3 4=135° 9=|—
7m T o
4= 9=1 ) 90
5=2520° .10=|—
31 = L T J
5= 10=15
i 2

2
No3 = [ Conditionl = {Cos( 0)= 5}, Condition2 =[Sin(0) < 0], Quest = Tan( 9)}, ,

No4 = [ Conditionl = [0 < Sec(0)], Condition2 = [ Tan(0) =-2], Quest =Sin(0)], , [

B

N05=[A =0,B=§, Condition = [Tan(0) = 1], Quest = [Sec(6)+Csc(9)]} ,[

«\?\
| |

3n -7
Nob6 = [A =m,B= 7, Condition = {c“(e) = } Quest =[Cos(0) — Tan(@)] {

‘j

No7:[A:37 B =2 n, Condition =[Tan(0) =-2], Quest =[Sin(0) — Cos(e)] {

S
| I

N08={A =§,B — , Condition :[Sin(e) _ 1} OQuest = [ Sec(6) + COt(e)] {
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